XH

24
=

g ]

<0

& A K&

e

KO

)

A

Al

HYE JEd Y SB2S2 (NHEHH2UABE)

Xl

ol
=

=

2024 A

INE

1577-8549
(02)3436-6450

TEL:

FAX:




& CH Jt 2
N8 JtEdd SB2S= (HEAHHAAE) - (HAM=ZH)
& bl cey 2l g 2
2= e 8 o9 gl 22
& ot S 97}‘ S & Ot S e Ot 2 o
1. NS IS Y REHLAAES - (H1200xW3000-SB2S2) & X BA 'F 'S (E27)
Y ©139.8X4.5tX1540 1= 97,000 97,000 97,000 97,000
T ©139.88 1M 22,100 22,100 22,100 22,100
=R RSB ©139.8X70 2 11,200 22,400 11,200 22,400
Wl (elde) | 175X3.2tX6330 1= 288,000 238,000 238,000 238,000 =HEE
WY (ZeRY) | 120X3.2tX6330 & 212,100 212,100 212,100 212,100 =HEz
=L ®101.6X3070X2t 12 | 105500 105,500 105,500 105,500
cEEET 400X260X80X3.2t 1M 44,400 44,400 44,400 44,400 wAT g
oA M8 1 EA 100 100 100 100
MU B M8x140 1M 1,000 1,000 1,000 1,000
AHYDH B/N 5/8x190 2 O 3,900 7.800 3,900 7.800
Bl B/N 5/8x45 2 1,900 3,800 1,900 3,800
Lo BN 5/8x38 8 700 5,600 700 5,600
2 (M Zd) 759,800 - - 759,800 2024.01 H2iJt2 p.264
&R SgoF 0.100 ¢ 214,222 21,422 214,222 21,422 20248 AL SAEESH(USALES]) P.746
28o= 0.200 ¢ 165,545 33,109 165,545 33,109 20244 ALBAEESH(HEALES]) P.746
BN 6 inch 0.160 hr 437 69 437 69 lpit pasNEERAHEaaa) Py
3CHIOIHIE ®6 inch 0.080 M 180,000 14,400 180,000 14,400 |20244 ALBAEESL(HSALESE!) P.746
&) 25kw 0.240 hr 9.437 2,264 33,571 8,057 3,237 776 46,245 11,07 2P SESNEEEaUnnaEa Pao
WS (=803 Z8)  0.6m° 0.160 hr 25,459 4073 55700 8912 34,509 5521 115668 @ 18,506 ant fESMEEEASEEE) P
HyEEs 2.5ton 0.240 hr 7,083 1,699 47,231 11,335 6.169 1,480 60,483 14,514 202 SESNEEEAUBTLED P70
EPNEES:] oIHEZ2 3% T4 1,635 1,635 1,635 1,635 |2024\3 AL ZAEESL(USALES]) P.746
AN (& RIH) 24,071 82,835 7,846 114,752
b 783,871 82,835 7,846 874,552
*'m" €0} : 874,552 |/ 3m = 291,518




el CH It Er
X2 bl T2l &4 &
25 e g | o9 gl 22
=) 2 o Bji‘ 2 o =l = e Ot =
2. G - S e AEAUEE OILE H1200 =£8) 4XISAH"HA"S (ESF2H
Xl *= ®139.8X4.5tX1540 0.5 & 97,000 48,500 97,000 48,500
A=Y (HSHLE) 0139.88 0.5 M 22,100 11,050 22,100 11,050
SASsH3U 144X70X9t 1 Oh 11,200 11,200 11,200 11,200
ct2tde 243X1230X3.2t 2] & 100,000 200,000 100,000 200,000 |&X, BHALRI E &
d & HEd L= 1 M 25,000 25,000 25,000 25,000
AN M8 0.5/ EA 100 50 100 50
gz B M8x140 0.5 M 1,500 750 1,500 750
HZU & B/N 5/8x190 1 M 3,900 3,900 3,900 3,900
gl B/N 5/8x80 8 M 700 5,600 700 5,600
2H(REHI) 306,050 - - 306,050 |2024.01 HehJt2 P.264
A Xl Ego= 0.05 ¢! 214,222 10,711 214,222 10,711 | BEE=72t2 50%
208 0.10 ¢! 165,545 16,554 165,545 16,554 |BEE=72t2 50%
IHEE ®6 inch 0.08 | hr 437 34 437 34 |BEF2t2 50%
3HIDUHIE ®6 inch 0.04 M 180,000 7,200 180,000 7,200 |EET2t9 50%
ERapl 25kw 0.12 | hr 9,437 1,132 33,571 4,028 3,237 388 46,245 5,648 |EE722 50%
S (B 0IH EZE) 0.6m® 0.08 | hr 25,459 2,036 55,700 4,456 34,509 2,760 115,668 9,252 |EE2t2 50%
HIOEY 2.5ton 0.12 | hr 7,083 849 47,231 5,667 6,169 740 60,483 7,256 |EET2t2 50%
M=l oI ZF 2l 3% 1 4l 817 817 817 817 2024 HHMSAEFEZH(HSHALES]) P.746
AH(&XIHI) 12,034 41,416 3,922 57,372
H 318,084 41,416 3,922 363,422




o 9 W I =
HEE OIEYL SB2E 2 (HEAUABE) - (HMEF)
W& 4l =2y 2l g
2z e = g2
e It = e It ‘ = e It 2 o e It =
1. WSS JIEY IHEAL A S - (H1200xW3000-SB2S 2) & X A "F'S (EB )
PR ©139.8X4.5tX1540 1= 97,000 97,000 97,000 97,000
M E Y ©139.88 1 22,100 22,100 22,100 22,100
BEAELHAY ©139.8X70 2 M 11,200 22,400 11,200 22,400
Wl (Me)  175X3.21X6330 1 & | 238,000 238,000 238,000 238,000 =HEH
WY (Be2Y)  120X3.21X6330 1" 212,100 212,100 212,100 212,100 =HEs
e ©101.6X3070X2t 12 | 105500 105,500 105,500 105,500
T 400X260X80X3.2t 1 44,400 44,400 44,400 44,400 @AX Bg
oA M8 1 EA 100 100 100 100
HEY AN B M8x140 1 1,000 1,000 1,000 1,000
PIHDE BN 5/8x190 2 oM 3,900 7,800 3,900 7,800
Yo B/N 5/8x45 2 M 1,900 3,800 1,900 3,800
Heiz B/N 5/8x38 8 M 700 5,600 700 5,600
A (RIEHI) 759,800 - - 759,800 |2024.01 H24t24 P.264
=Nl Sgo2 0.100, o 214,222 21,422 214,222 21,422 20243 AL BABESH(HSALES]) P.746
2828 0.200, o 165,545 33,109 165,545 33,109 |20244 ALSAEZEL (S AL ES]) P.746
ENVEE 6 inch 0.160 hr 437 69 437 pg Spai camiEsERallisnama) P
3T OHIE ®6 inch 0.080 M 180,000 14,400 180,000 14,400 (20244 AL TAIBESH(USALEE]) P.746
2| 25kw 0.240  hr 9,437 2,264 33,571 8,057 3,287 776 46,245 11,097 20 SESNEEEAMAAERED P76
95 (S0 Z8)  0.6m° 0.160  hr 25,459 4,073 55,700 8.912 34,509 5521 | 115,668 18,506 ap aESNEEBAMUALES P76
gmes 2.5ton 0.240 hr 7,083 1,699 47,231 11,335 6,169 1,480 60,483 14,514 20a SESNEEEAMAASRED P76
PRl eI E2 3% 1A 1,635 1,635 1,635 1,635 (20243 AL ZAEZEM(SALES]) P.746
AL XIHI) 24,071 82,835 7,846 114,752
A 783,871 82,835 7,846 874,552
*"'m" &} : 874,552 |/ 3m = 291,518




& % th D N =

& bl = 2l 2 g i
zs 72 +z | o9
& Ot 2 o & ot ‘ 2 o & ot 2 o & Ot 2 o
2. WL SHEXRINL - =B (HI00XWAI00-ETISZ) SXZA "HA'Y (SES HIEH2)
CEIES ©139.8x4.5tx986 4 = | 195000 780,000 195,000 780,000
AEIES ©139.8x4.5tx778.5 4 = 164,000 656,000 164,000 656,000
NES ©130.88 5 6.900 34,500 6.900 34,500
Wl 175x3.9x1230 16 & 102,000 1,632,000 102,000 1,632,000 =HEE
Wl 175x3.91x820 4 73,000 292,000 73,000 292,000 ‘=HEX
R 400x50x42.9x3.2t 8 11,600 92,800 11,600 92,800
EsT 350x700x50x6t 14 230,000 230,000 230,000 230,000
ESTDZ S 200x80x4 1x4.5¢ 4 45,000 180,000 45,000 180,000
gecH 356x660x235x3t 10 218,500 218,500 218,500 218,500 HAK Ee
LD B/N 5/8x180 14, M 2,300 32,200 2,300 32,200
Bl el B/N 5/8x38 24 900 21,600 900 21,600
A BIRZEZE BN 5/8x65 16/ M 900 14,400 900 14,400
ESTOIZ BN M10x25 14 M 500 7,000 500 7,000
YIS ©139.8X4.3tX2100 1= 60,000 60,000 60,000 60.000
CEDES ®114.3X4.3tX500 1= 15,000 15,000 15,000 15,000
HOITI= ©139.8X4.5t 0.5 set - (e
WE L1000 1 set - (e
I(RIZHI) 4,266,000 - - 4,266,000
=3 20 o 243,126 486,252 243,126 486,252 (20244 ALBANEEEH
Sgo= 3.0 ¢ 214,222 642,666 214,222 642,666 20244 ALSABESL(HEAA
2302 4.0/ ¢ 165,545 662,180 165,545 662,180 |20244 AL TBAEESH(ChE
25kw 117 hr 9,437 11,041 33,571 39,278 3,237 3,787 | 46,245 54,106 Cl2i AesasEEald
95 (2013 Z8)  0.6m° 1.09) hr 25,459 27,750 55,700 60,713 34,509 37.614 115,668 126,077 VRt DesnEEEaltE
2.5ton 117 hr 7,083 8.287 | 47,231 55,260 6,169 7.217 | 60,483 70,764 C02i DesasEEaltE
IHZ2 3% A 53,732 53,732 53,732 53,732 |20244 AHBAEES
A (& xHI) 100,810 1,946,349 48,618 2,095,777
2 4,366,810 1,946,349 48,618 6,361,777




p) = CH Jt =z
2l L 2 2 dl g 7
= 72 2 | ol Bl 2
= 2 o e It 2 o e It 2 o e It 2 o

*A1SE: o SE-"Alvg
Fof=e 6 1o 438 437 438 43T | ealn Bas 8- 831000¢e2650.000001

| - - 437 437
* R28H : 2@ (25kw)-'Al2HE
A8 0.001W% S 43 1 1,770 7,611 1,770 7,611 2024.01 Hehot= P.1451
SV 29| 24% 0.24] Al 7,611 1,826 7,611 1,826
B H S F A 1 ¢ 33,571 33,571 33,571 33,571 |HM55E

p 9,437 33,571 3,237 46,245
* M85 HE : HEE(2.5t0n)-"Al2H'S
A8 0.001W% S 29 | 1,770 5,133 1,770 5,133 2024.01 HeHJt P.1451
SV 29| 38% 0.38 Al 5,133 1,950 5,133 1,950
S22 A 1 ¢ 47,231 47,231 47,231 47,231 |MezE

A 7,083 47,231 6,169 60,483
* A4S H : 95(0.6m°HEEHOIH =hH-'AlMY
bz ol 1o 8820 | 8820 8820 882 ifir‘iﬁifé?;f;3(%5512;5?1%%53&01
AR 0.001W% S 1.6 | 1,770 20,532 1,770 20,532 |2024.01 HAH I P.1451
SV 29| 24% 0.24] Al 20,532 4,927 20,532 4,927
AT HSHA 1 ¢ 55,700 55,700 55,700 55,700 |M7EE

p 25,459 55,700 34,509 115,668




T 2 dl L 24l g 4l &
=3 B =2 H D
=l 2 9 = 2 o = 3 9 = 2 o

H2EA-'AlVE

0.208 @ ¢l 161,142 33,571 161,142 33,571 | 1LIIZ= AIZxA O H 2x 5 X H 2==(1/8)x(16/12)x(25/20)
ST A=Al

0.208 ¢l 226,709 47,231 226,709 47,231 | 1LI1ZE AIZxA O H 2x 5 X H 2==(1/8)x(16/12)x(25/20)

AEIASTA-AIRNE

0.208 @ ¢l 267,360 55,700 267,360 55,700 | 1LI1Z= Al 2bxAE O H 2=x 5 X H 2==(1/8)x(16/12)x(25/20)
20241 10|1& 1« - 214,222 214,222 214,222 214,222
2024.1.10|1& 1« - 165,545 165,545 165,545 165,545
2024.1.10|1& 1« 243,126 243,126 243,126 243,126
2024.1.10|1&= 1« - 161,142 161,142 161,142 161,142
2024.1.10|1&= 1« - 226,709 226,709 226,709 226,709
2024.1.10|1= 1« - 267,360 267,360 267,360 267,360




XH

24
=

g ]

<0

& A K&

e

KO

)

A

Al

HYE JEd Y SB2S2 (NHEHH2UABE)

Xl

ol
=

=

2024 A

INE

1577-8549
(02)3436-6450

TEL:

FAX:




& CH Jt 2
N8 JtEY L SB2S= (HEAHHAAE) - (ASHZH)
& bl cey 2l g 2
2= e 8 o9 gl 22
& ot S 97}‘ S & Ot 2 o & It 2 o
1. NS IS Y REHLAAES - (H1200xW3000-SB2S2) & X BA 'F 'S (E27)
Y ©139.8X4.5tX1540 1= 97,000 97,000 97,000 97,000
T ©139.88 1M 22,100 22,100 22,100 22,100
=R RSB ©139.8X70 2 11,200 22,400 11,200 22,400
W 22 (R e1e) - A E) 175X3.21X6330 0.5 ® 238,000 119,000 238,000 119,000 =uEE
W Rl (F B2 2-5HE) 175X3.2tX6330 0.5 & 237,900 118,950 237,900 118,950 esoieica
WY (ZeEY) | 120X3.2tX6330 0.5 F 212,100 106,050 212,100 106,050 =uE%
WY (ZeRY) | 120X3.2tX6330 0.5 & 186,600 93,300 186,600 93,300 sS0IeIES
=L ®101.6X3070X2t 1 2 | 105500 105,500 105,500 105,500
cEEET 400X260X80X3.2t 1M 44,400 44,400 44,400 | 44,400 @AW EE
oA M8 1 EA 100 100 100 100
Ui B M8x140 1M 1,000 1,000 1,000 1,000
A B/N 5/8x190 2 f 3,900 7.800 3,900 7.800
Bl B/N 5/8x45 2 1,900 3,800 1,900 3,800
dlLei BN 5/8x38 8 M 700 5,600 700 5,600
2 (M Zd) 747,000 - - 747,000 2024.01 H2hJt= p.264
&R SgoF 0.100 ¢ 214,222 21,422 214,222 21,422 20248 AL BAEESH(USALES]) P.746
28o= 0.200 ¢ 165,545 33,109 165,545 33,109 20244 ALBAIEESH(UEALES]) P.746
aocy 6 inch 0.160 hr 437 69 437 69 lpit pasNEEBAtimaama) P
3HIOHIE ®6 inch 0.080 M 180,000 14,400 180,000 14,400 |20244 ALBAEESL(HSALESE!) P.746
EFp] 25kw 0.240 hr 9.437 2,264 33,571 8,057 3,237 776 46,245 11,007 2P SESNEEEaUnnaEa Pao
9S (2013 ) 0.6m° 0.160 hr 25,459 4,073 55,700 8.912 34,509 5521 | 115,668 18,506 ot S @SANEEBA(MEAAES) P70
HymEs 2.5ton 0.240 hr 7,083 1,699 47,231 11,335 6.169 1,480 60,483 14,514 202 SESNEEEAMBTLED P70
EPNEES:] oIHEZ2 3% T4 1,635 1,635 1,635 1,635 |2024\3 AL SAEESL(USALES]) P.746
AN (& RIH) 24,071 82,835 7,846 114,752
b 771,071 82,835 7,846 861,752
*'m" €0} : 861,752 |/ 3m = 287,251




M Z dl L 2l 4 dl 2|
25 e g | o9 gl
e It 3 o Bjr‘ 3 o & O 3 o & Ot 3 o
2. G - S e AEAUEE OILE H1200 =£8) 4XISAH"HA"S (ESF2H
X o= ®139.8X4.5tX1540 05 = 97,000 48,500 97,000 48,500
X =Y (H=EHLYE) |0139.88 05 N 22,100 11,050 22,100 11,050
EAESAZU 144X70X9t /! 11,200 11,200 11,200 11,200
SRS Y (A 243%X1230X3.2t 1 ® 100,000 100,000 100,000 100,000 2HMEE, BAK Zat
SRS Y (6 243X1230X3.2t 1 H 76,000 76,000 76,000 76,000 |ES0IAT2, BIAIK &
o o Heyes 1 K 25,000 25,000 25,000 25,000
A M8 0.5 EA 100 50 100 50
HEYUAZ B M8x140 05 N 1,500 750 1,500 750
HAZU DS B/N 5/8x190 /! 3,900 3,900 3,900 3,900
dLsz B/N 5/8x80 8 M 700 5,600 700 5,600
2H(RIEHI) 282,050 - - 282,050 [2024.01 H2HItA P.264
=balsll Sgolg 0.05 ¢l 214,222 10,711 214,222 10,711 | BE222 50%
208 0.10 ¢ 165,545 16,554 165,545 16,554 EE72 50%
0= ®6 inch 0.08 | hr 437 34 437 34 EET50%
3CtIOHIE ®6 inch 0.04 N 180,000 7,200 180,000 7,200 EET2 50%
2AD| 25kw 0.12 | hr 9,437 1,132 33,571 4,028 3,237 388 46,245 5,548 |EET2 50%
BS(20IAH X&) 0.6m° 0.08 hr 25,459 2,036 55,700 4,456 34,509 2,760 115,668 9,252 |EET2 50%
HueA 2.5ton 0.12 | hr 7,083 849 47,231 5,667 6,169 740 60,483 7,056 EER 50%
M=l oI E 9 3% 1 A 817 817 817 817 2024 AL ZAEEZM(EIALE3]) P.746
AH (& X4I) 12,034 41,416 3,922 57,372
AH 294,084 41,416 3,922 339,422




g % tH o H
HLE JtEY Y SB2SS (HEAHHAAE) - (HESE2H)
e L 2l 2 g
z s 72 *z | o9 Bl 2
& ot 2 o BJP‘ 2 o & Ot 2 o g It 2 o
1.JHS JLERY THEH LA S - (H1200xW3000-SB2S B) & XIBA ‘22" (E2P2)
o= ©139.8X4.5tX1540 12 | 97,000 97,000 97,000 97,000
X F ©139.88 1 22,100 22,100 22,100 22,100 |=2X= etze/N B
EAS 020 ©139.8X70 2 W 11,200 22,400 11,200 22,400
W 22 (® Bl -4HE 175X3.2tX6330 0.5 & | 238,000 119,000 238,000 119,000
W 22 (® Bl -5hE) 175X3.2tX6330 0.5 & | 237,900 118,950 237,900 118,950 =H=%
W (FSY)  120X3.2tX6330 0.5 & | 212,100 106,050 212,100 106,050 S80S
WY (FSY)  120X3.2tX6330 0.5 & | 186,600 93,300 186.600 93,300 =uEE
RISE ©101.6X3070X2t 1 2 | 105500 105,500 105,500 105,500 S80S
R 400X260X80X3.2t 1 44,400 44,400 44,400 44,400
oA M8 1 EA 100 100 100 100 @A =&t
#oageiz B M8x140 1M 1,000 1,000 1,000 1,000
YAHDH B/N 5/8x190 2 3,900 7.800 3,900 7.800
algeiz B/N 5/8x45 2 1,900 3,800 1,900 3,800
algeiz B/N 5/8x38 8 700 5,600 700 5,600
23 (REHI) 747,000 - - 747,000 2024.01 122t P.264
EXdl sgeol=s 0.100, ¢ 214,222 21,422 214,222 21,422 (202439 ALBANEEBL(EALES]) P.746
2302 0.200| ¢! 165,545 33,109 165,545 33,109 (20244 ALBAEEBL(EALES]) P.746
oice 6 inch 0.160 hr 437 69 437 69 2Pzie aeARERAlinasBe) P
3 IOHIE 6 inch 0.080 M | 180,000 14,400 180,000 14,400 20244 28 BNEEBA(N2AES)) P.746
2| 25kw 0.240 hr 9,437 2,264 33,571 8.057 3,237 776 46,245 11,07 202H peSARERAHEALBR) P16
WS(2019 ZE) 0.6m° 0.160 hr 25,459 4,073 55,700 8.912 34,509 5521 115,668 18,506 20zi peSARERAMaALBR) P14
gmes 2.5ton 0.240 hr 7,083 1,699 47,231 11,335 6.169 1,480 60,483 14,514 202H aSARERAMaALBR) P16
g =8l IHZ 2l 3% 1 A 1,635 1,635 1,635 1,635 20244 ALSAREZL(HEALE5]) P.746
AJH(& R 24,071 82,835 7,846 114,752
3 771,071 82,835 7,846 861,752
*'m" ©O}: 861,752 |/ 3m = 287,251




g < ot 2
T E b B 2l g
= 7 +g | o9 bl 2
& O 2 o err‘ 2 o e O 2 o e ot 2 o
2. WS SRHBANY - =S8 (HI00XWAG00-ETIST) EXIBM "HA'Y (SES HIZHT)
SEIES ©139.8x4.5tx 986 4 2 195000 780,000 195,000 780,000
ARRE ©139.8x4.5tx778.5 4 2 164,000 656,000 164,000 656,000
NES ©139.88 5 M 6.900 34,500 6.900 34,500
Woale (e 175x3.9tx1230 8 = 102,000 816,000 102,000 816,000 =uEx
Wl (ate) 175x3.9tx1230 8 64,000 512,000 64,000 512,000 ole=3
Woale (e 175x3.9tx820 2 ® | 73,000 146,000 73,000 146,000 =HEs
Wl (ate) 175x3.9tx820 2 51,000 102,000 51,000 102,000 o=
a2 oy 400x50x42.9x3.2t 8 M | 11,600 92,800 11,600 92,800
ssu 350x700x50x6t 1 94 230,000 230,000 230,000 230,000
ESBIFIY 200x80x41x4.5t 4 4 | 45,000 180,000 45,000 180,000
secH 356x660x235x3t 1% 218,500 218,500 218,500 218,500 |#AIKI EE
LD B/N 5/8x180 14 M 2,300 32,200 2,300 32,200
2o B/N 5/8x38 24 H 900 21,600 900 21,600
ABIRIFEHZ BN 5/8x65 16 M 900 14,400 900 14,400
ESTEIZ B/N M10x25 14 500 7,000 500 7.000
Y ©139.8X4.3tX2100 12 | 60,000 60,000 60,000 60,000
EEIES ®114.3X4.3tX500 12 15000 15,000 15,000 15,000
HOIXI= ®139.8X4.5t 0.5 set - — (G
Hol e L1000 1 set - - (e
AH(HEH) 3,918,000 - - 3,918,000
X =k 20 o 243,126 486,252 243,126 486,252 (20248 ALBANEESS(UEALESE) P.747
Sgeog 3.0 ¢ 214,222 642,666 214,222 642,666 |20249 ALBANEESH(UEALES]) P.747
2302 40 o 165,545 662,180 165,545 662,180 |20244 ALBAMEEEM(USALESI) P.747
@ 0| 25kw 147 hr 9,437 11,041 33,571 39,278 3,237 3,787 46,245 54,106 ot G EB RERAltEnaB) P
WS(2019 ZE) 0.6m° .09 hr | 25459 27,750 55,700 60,713 34,509 37,614 | 115,668 126,077 A0EM aEsMREBaliianaB Py
gmee 2.5ton 147 hr 7,083 8.287 47,231 55,260 6.169 7.217 60,483 70,764 AN EBNRERAlUEnaE) P
g =8l IHZ 2l 3% 1 A 53,732 53,732 53,732 53,732 (20244 ALBAEEBL(EALES]) P.747
AH(E R 100,810 1,946,349 48,618 2,005,777
2 4,018,810 1,946,349 48,618 6,013,777




p) = CH Jt =z
2l L 2 2 dl g 7
= 72 2 | ol Bl 2
= 2 o e It 2 o e It 2 o e It 2 o

*A1SE: o SE-"Alvg
Fof=e 6 1o 438 437 438 43T | ealn Bas 8- 831000¢e2650.000001

| - - 437 437
* R28H : 2@ (25kw)-'Al2HE
A8 0.001W% S 43 1 1,770 7,611 1,770 7,611 2024.01 Hehot= P.1451
SV 29| 24% 0.24] Al 7,611 1,826 7,611 1,826
B H S F A 1 ¢ 33,571 33,571 33,571 33,571 |HM55E

p 9,437 33,571 3,237 46,245
* M85 HE : HEE(2.5t0n)-"Al2H'S
A8 0.001W% S 29 | 1,770 5,133 1,770 5,133 2024.01 HeHJt P.1451
SV 29| 38% 0.38 Al 5,133 1,950 5,133 1,950
S22 A 1 ¢ 47,231 47,231 47,231 47,231 |MezE

A 7,083 47,231 6,169 60,483
* A4S H : 95(0.6m°HEEHOIH =hH-'AlMY
bz ol 1o 8820 | 8820 8820 882 ifir‘iﬁifé?;f;3(%5512;5?1%%53&01
AR 0.001W% S 1.6 | 1,770 20,532 1,770 20,532 |2024.01 HAH I P.1451
SV 29| 24% 0.24] Al 20,532 4,927 20,532 4,927
AT HSHA 1 ¢ 55,700 55,700 55,700 55,700 |M7EE

p 25,459 55,700 34,509 115,668




T 2 dl L 24l g 4l &
=3 B =2 H D
=l 2 9 = 2 o = 3 9 = 2 o

H2EA-'AlVE

0.208 @ ¢l 161,142 33,571 161,142 33,571 | 1LIIZ= AIZxA O H 2x 5 X H 2==(1/8)x(16/12)x(25/20)
ST A=Al

0.208 ¢l 226,709 47,231 226,709 47,231 | 1LI1ZE AIZxA O H 2x 5 X H 2==(1/8)x(16/12)x(25/20)

AEIASTA-AIRNE

0.208 @ ¢l 267,360 55,700 267,360 55,700 | 1LI1Z= Al 2bxAE O H 2=x 5 X H 2==(1/8)x(16/12)x(25/20)
20241 10|1& 1« - 214,222 214,222 214,222 214,222
2024.1.10|1& 1« - 165,545 165,545 165,545 165,545
2024.1.10|1& 1« 243,126 243,126 243,126 243,126
2024.1.10|1&= 1« - 161,142 161,142 161,142 161,142
2024.1.10|1&= 1« - 226,709 226,709 226,709 226,709
2024.1.10|1= 1« - 267,360 267,360 267,360 267,360




XH

24
=

g ]

<0

& A K&

e

KO

)

A

Al

HYE JEd Y SB2S2 (NHEHH2UABE)

Xl

ol
=

=

2024 A

INE

1577-8549
(02)3436-6450

TEL:

FAX:




= CH It 2
HYE JtenY SB2EE (A AHHAEHE) - (BE0HEI3)
T 2 bl T2 23l g A
= 7 ~z o9 bl 3
e ot 2 9 9%‘%% & It 2o e ot 2 o
1.0 8 D= HEAHHZAE - (H1200xW3000-SB2SS) & XIS AL 'FH'e (ES72)
o= ©139.8X4.5tX1540 1= 97,000 97,000 97,000 97,000 = BAXNFEE
IERT ©139.88 1 22,100 22,100 22,100 22,100
EA5 0120 ©139.8X70 2 M 11,200 22,400 11,200 22,400
Wl (M) 175X3.2tX6330 1 ® | 237,900 237,900 237,900 237,900 £s0ieE3
WY (2eEY)  120X3.2tX6330 1= 186,600 186.600 186.600 186,600 S801E3
#eag ©101.6X3070X2t 1 2 | 105500 105,500 105,500 105,500
TR 400X260X80X3.2t 1o 44,400 44,400 44,400 44,400 $AX BE
oM M8 1 EA 100 100 100 100
B U B M8x140 1o 1,000 1,000 1,000 1,000
QIO DH B/N 5/8x190 2 O 3.900 7.800 3.900 7.800
e B/N 5/8x45 2 O 1,900 3.800 1,900 3.800
eI B/N 5/8x38 8 b 700 5,600 700 5,600
2 (X ZH) 734,200 - - 734,200 |2024.01 H2HIt24 P.264
XYl Sgols 0.100 o 214,222 21,422 214,222 21,422 (20249 AL SABESL(UEALES]) P.746
SR 0.200 9! 165,545 33,109 165.545 33,109 202411 AL BANEEBH(CISASES) P.746
=Y 6 inch 0.160 hr 437 69 437 69 P2 clESAEESARAER) P16
3SR OIHIE ®6 inch 0.080 M 180,000 14,400 180,000 14,400 (20249 ALSAEESL(HHEALES]) P.746
EESp] 25kw 0.240  hr 9,437 2,264 33,571 8,057 3,237 776 46,245 11,07 202 SESNEEBAMRASRE P76
wS(28019 B8) 0.6m° 0.160 hr 25,459 4,073 55,700 8.912 34,509 5521 115,668 18,506 202 QESAEEBA(RASREN P76
gmes 2.5ton 0.240  hr 7,083 1,699 47,231 11,335 6.169 1,480 60.483 14,514 202 SESNEESAMRASREN P76
ERUEE:] QI E S 3% A 1,635 1,635 1,635 1,635 [20249 ALBAEES (LS ALHS]) P.746
AA(LRH) 24,071 82,835 7,846 114,752
p! 758,271 82,835 7,846 848,952
*'m" €0} 848,952 / 3m = 282,984




WI=3:] L 24l 4l g A
33 2 S el all
=l Z o Bw‘é‘&“ = = =l =
2. G2 - e Jte Y INEAHZHZER LS H1200 =&8) 4X3AM "HA'Y (E272)
X > ®139.8X4.5tX1540 0.5 = 97,000 48,500 97,000 48,500
A=Y EHSHLE) @139.88 0.5 M 22,100 11,050 22,100 11,050
SHEFHZNU 144X70X9t 1 O 11,200 11,200 11,200 11,200
ct2Ed e 243X1230X3.2t 2| & 76,000 152,000 76,000 152,000 =X, BrALRI =&
ol 2 HoggdE 1 OH 25,000 25,000 25,000 25,000
BotA M8 0.5 EA 100 50 100 50
HEYLHE B M8x140 0.5 M 1,500 750 1,500 750
HZUDE B/N 5/8x190 1 JH 3,900 3,900 3,900 3,900
gtz B/N 5/8x80 8/ JH 700 5,600 700 5,600
2HI(KEH]) 258,050 - - 258,050 [2024.01 HeHoH2 P.264
A Xl sgog 0.05 | ¢ 214,222 10,711 214,222 10,711 |BEEF2t2 50%
2308 0.10 | ¢ 165,545 16,554 165,545 16,554 |BE=F2t2 50%
ZNHEE ®6 inch 0.08 | hr 437 34 437 34 |EET2S 50%
3HIUHIE ®6 inch 0.04 | M 180,000 7,200 180,000 7,200 |[EET22 50%
sl 25kw 0.12 | hr 9,437 1,132 33,571 4,028 3,237 388 46,245 5,548 |BEET2t2| 50%
WS (S 0IH 28 0.6m° 0.08 | hr 25,459 2,036 55,700 4,456 34,509 2,760 115,668 9,252 |EET2H 50%
HOIEY 2.5ton 0.12 | hr 7,083 849 47,231 5,667 6,169 740 60,483 7,256 |EET2t2| 50%
M= QIEF 2| 3% 1 Al 817 817 817 817 |2024F ALTAEEEM(EALES]) P.746
AAH (& XIHI) 12,034 41,416 3,922 57,372
Al 270,084 41,416 3,922 315,422




g % tH o H
NLE ItE Y SB2S 2 (RHEAHHABE) - (880IHEI)
W E bl L2l 2 g
zz 72 >z o9 bl 2
& It 2 o EFJP‘ 2 o & It 2 o & ot 2 o
1. 0§28 DSl RHEHH AR - (H1200XW3000-SB2S B) & X BAH "2 2A'S (EB72)
noo= ©139.8X4.5tX1540 1= 97,000 97,000 97,000 97,000
Xl F ©139.88 1oH 22,100 22,100 22,100 22,100
=R Rl ©139.8X70 2 11,200 22,400 11,200 22,400
WY (MBEY)  175X3.2tX6330 1 &  237.900 237,900 237,900 237,900 e80ieiE3
WY (SSHY)  120X3.2tX6330 1 & 186,600 186.600 186,600 186,600 E80iE3
R ©101.6X3070X2t 1 2 105500 105,500 105,500 105,500
LIRS 400X260X80X3.2t 1oH 44,400 44,400 44,400 44,400 |BAT ma
=L M8 1 EA 100 100 100 100
ey AN B M8x140 1oH 1,000 1,000 1,000 1,000
PIZDF B/N 5/8x190 2 3,900 7.800 3,900 7.800
algei B/N 5/8x45 2 1,900 3,800 1,900 3.800
algei B/N 5/8x38 8 700 5,600 700 5,600
23 (M EHI) 734,200 - - 734,200 2024.01 22t P.264
& Xl sgo=s 0.100 ¢ 214,222 21,422 214,222 21,422 (202439 ALBANEEBL(EALES]) P.746
232 0.200 2 165,545 33,109 165,545 33,109 |20244 AL BANEZZH(HNBALESI) P.746
L= 6 inch 0.160 hr 437 69 437 69 2Pzis pemARERAlinasBe) P
CEEES 6 inch 0.080 M 180,000 14,400 180,000 14,400 2024 A BNEEBA(NRAE ) P.746
LBl 25kw 0.240 hr 9.437 2,264 33,571 8,057 3,237 776 46,245 11,07 202H peSARERAHEALBR) P16
WS(SH0IH Z&)  0.6m° 0.160 hr 25,459 4,073 55,700 8.912 34,509 5521 | 115,668 18,506 202i pesARERAHaALBR) P16
goes 2.5ton 0.240 hr 7,083 1,699 47,231 11,335 6.169 1,480 60,483 14,514 202H aSARERAHaaLBR) P16
S]] AIHZ 2| 3% A 1,635 1,635 1,635 1,635 20244 ALSARESH(HEALE5]) P.746
AJ(&xIH) 24,071 82,835 7,846 114,752
H 758,271 82,835 7,846 848,952
*'m" €O 848,952 |/ 3m = 282,984




& Jt H
3 g A
= 72 2 e bl 2
& It 2 o 2 o g I} 2 o & It 2 o
2. Wz o - =58 (HI00XWA00-ETISZ) AXIBA "HA'Y (HES HIZRT)
CEOES ©139.8x4.5tx986 4 2 195000 780,000 195,000 780,000
NEES ©139.8%4.5tx778.5 4 = 164,000 656,000 164,000 656,000
NS ©139.88 5 0 6,900 34,500 6,900 34,500
W 175x3.9tx1230 16 = 64,000 1,024,000 64,000 1,024,000 8803
ETE! 175x3.91x820 4 51,000 204,000 51,000 204,000 |Es0ieiE3
CIEEY 400x50x42.9x3.2t 8 11,600 92,800 11,600 92,800
e 350x700x50x6t 1 230,000 230,000 230,000 230,000
et EEIE 200x80x41x4.5t 4 45,000 180,000 45,000 180,000
secH 356x660x235x3t i 218,500 218,500 218,500 218,500 |BAN EE
QDI B/N 5/8x180 14 2,300 32,200 2,300 32,200
Yoz B/N 5/8x38 24 900 21,600 900 21,600
MBIXIFEAZ BN 5/8x65 16 900 14,400 900 14,400
ESTZ BN M10x25 14 500 7,000 500 7,000
N ©139.8X4.3tX2100 i 60,000 60,000 60,000 60,000
CEI(ES ®114.3X4.3tX500 i 15,000 15,000 15,000 15,000
HOIXIF ©139.8X4.5¢ 0.5 - - (e
L1000 i - - @A)

3,570,000 - - 3,570,000 |2024.01 HehotA P.264
=3 2.0 486,252 243,126 486,252 20244 ALBAHESL(THEHA
sSgog 3.0 642,666 214,222 642,666 |20249 ALBAEESM(HEALES
232 4.0 662,180 165,545 662,180 |20244 ALBANEESH(Ch5

2| 25kw 1.17 9,437 11,041 39,278 3,237 3,787 46,245 54,106 ot pEEnEERAlE
WS (221013 0.7m* 1.09 25,459 27,750 60,713 34,509 37.614 115,668 126,077 2024 aEsMEEEaltE
=fd 2.5ton 1.17 7,083 8,287 55,260 6.169 7,217 60,483 70,764 VAN pEENEERAE
S]] IHE2| 3% 1 53,732 53,732 53,732 53,732 (20244 ALBNEESY
100,810 1,946,349 48,618 2,095,777
3,670,810 1,946,349 48,618 5,665,777




p) = CH It Er
2 dl L 2l 4 g A
335 7 =2 | o= [l
=l = 9 =l = 9 =l = 9 =l 3 9

*H1SE : DS -'AlME

Al - - 437 437
* 2SS & : YA I|(25kw)-'AlI2HE
a7 0.001W% S 43 | 1,770 7,611 1,770 7,611 |2024.01 2K+ P.1451
ESPUEES FHR2 24% 0.24| A 7,611 1,826 7,611 1,826
LB A2 A 1 ¢ 33,571 33,571 33,571 33,5671 |H53=

Al 9,437 33,571 3,237 46,245
* JIBSH : §IE2{(2.5ton)-'Al2HE
a7 0.001W% S 29 | 1,770 5,133 1,770 5,133 12024.01 He#It24 P.1451
ESPUEES FHZR2 38% 0.38| A 5,133 1,950 5,133 1,950
SISXE M A 1 ¢ 47,231 47,231 47,231 47,231 M6 EH

Al 7,083 47,231 6,169 60,483
* M4SH : #5(0.6m°,HEE01H Z&)-'A2HS
2R 0.001W% S 1.6 | 1,770 20,532 1,770 20,532 2024.01 He§ItA P.1451
ESPUEES FHR9 24% 0.24) 4| 20,532 4,927 20,532 4,927
HAEIIHZ2H A 19 55,700 55,700 55,700 55,700 M73E

Al 25,459 55,700 34,509 115,668




M 2 dl L 2l 4 &
335 7 =2 | e ClE
=l = 9 =l = 9 =l = 9 =l 2 o
* HISSH : LB A A-"AlIZHE
LB A2 A 0.208 | ¢l 161,142 33,571 161,142 33,571 1L IIE A4 01 H x & XI Al 4==(1/8)x(16/12)x(25/20)
* N6SH : SISASTA-"AIVE
SISXE M A 0.208 | ¢l 226,709 47,231 226,709 47,231 [ 1LIIE A 2xat O Al 2=xE X Hl 2==(1/8)x(16/12)x(25/20)
* H78H : ALI|ASEAMN-"AI2HE
HAEIIH2HAM 0.208 | ¢l 267,360 55,700 267,360 55,700 [ 1LIIZAIZxA 03 H x5 K H 2==(1/8)x(16/12)x(25/20)
* L e}
SgoL 2024.1.10|&= 1 4 - 214,222 214,222 214,222 214,222
2808 20241 101& 1 4 - 165,545 165,545 165,545 165,545
223 20241.10|1& 1 4 243,126 243,126 243,126 243,126
LB H2HE AL 20241 10|1& 1 4 - 161,142 161,142 161,142 161,142
StEXHE M A 20241 10|1& 1 4 - 226,709 226,709 226,709 226,709
AEIIH2E A 20241 10|1& 1 4 - 267,360 267,360 267,360 267,360




	30##...OG-SB2-C-H1200xW3000(개방형 가드레일 차량겸용)-2401
	표지
	일위대가
	일위대가-단부처리시설
	기본대가

	30#...OG-SB2-C-H1200xW3000(개방형 가드레일 차량겸용)-2401
	표지
	일위대가
	일위대가-단부처리시설
	기본대가

	30...OG-SB2-C-H1200xW3000(개방형 가드레일 차량겸용)-2401
	표지
	일위대가
	일위대가-단부처리시설
	기본대가


